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Now answer the following questions.

The process by which liquid changes into vapour at a particular temperature is known as

A boiling.

B. condensation.”’
C. evaporation.
D. melting.

Which of the following organisms has neither a nucleus nor membrane bound organciics”
A Bactena

B Mucor
C. Paramecium
D Spirogyra

A dibber is used for

A dehusking.
B. pruning,.
C. thinning.
1J planting.

An electric bulb is rated 120 W and 240 V. Determine the current it draws trom the maimns

A. 0.5 A
14 L6 A
C. 10A
1. 20A
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The Laver of the atmosphere in which an tavel s most convement is

A.
B

C.
.

mesosphere
stratosphere
themuosphere
troposphere

A\n agricultural systenn in which erops and animals are produced on the same prece of Fand at the <ame time

18 termad

AL
3.
C.
D.

CONUNUOUS CTopPping
mnad cropping
mied fuming

pastoral farming.

Cowpea plants are used in crop rotation system of farming so that
arazing animals wouia not destroy the crops.

nitrates would be added o tl
sotl erosion could be checke
weads would be suppressed.

1 soil.

d.

Ihe angle of reflection of a ray is 40°. Determine the angle between the surface of the mirror and

the ray.
AL
B

D.

Fluid consists of

A.
B.
C.
D.

solid and liquid only.
liquid and gas only.
gas and solid only.
liquid. solid and gas.

Which of the following compounds is a neutral oxide?

A

B.
o
D

CO,
NO.
MgO
CcO

For grafting to be successful, the sci

A
B

G
D

size.
length.
diameter.
texture.

on and stock must be of the same

A gas that gives a pop sound with a flame is

oCoO= >

ammonia.

carbon (I1V) oxide.
hydrogen.
nitrogen.
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(R Patteen children trom a clase ot 15 vl roneues What percentape of the class are rollers?
\ S8 X,
3 RIR LN
- IS e
B T8 3%
14 The major cause of post-harvest Toss o stored millet i Ghanaos
\ dind attack
i} msavct attack ‘
. machanical mjurn
D high hunidin
15 Examples of plants with thizome are
\ ginger and tem
B. onion and ginger.
C yam and lrish potato.
D. onon and fems.
1o The management practice which makes the transport of farm animals casy 1s
AL castration.
B. dehoming.
C. identification.
D. quarantine.
17 Breeds of fowl which are reared for the purpose of producing meat are called
Al broilers.
B. chicks.
C. hens.
D. lavers.
18 The set-up used to separate water from cthanol should include
A. separating funnel.
B. burette.
C: condenser.
D. volumetric flask.
19 Which of the following statements about sea breeze are correct? Sea breeze occurs
I during the day.
11. during the night.
11 as a result of convection currents.
A. [ and Il only
B I and Il only
] Il and T only
D. I 1l and 111
20 Mineral salts from the <ol pass into the root hair cells by
A Lugor pressure
13 active transport
C OSINOSES
D. capillarity
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Which of the following salts can cause temporary hardness in water”?
A Mge(11CO)

B Fe (50),
¢ MpCL,
D] ("aSO

An example of inorganic fertilizer is

\. compost.

13 farmvyard manuie.
. green manure.

D. urea.

Iwo resistors each 5 Q are connected in parallel. Determine their effective resistance,
A 25Q

. 6.4Q
C. 10.0 Q
D. 25.0Q

A person who suffers from myopia

A cannot sce at all.

B. can see clearly from far.

C. can see clearly objects closer.

D. wears a converging lens for correction.

An example of a wind instrument is

A flute.

3. guitar.

C. violin.

D. xylophone.

Which of the following statements about compounds are correet?

l. They are products of chemical combination.
1. Their constituents are present in lixed ratio by mass.
il Their constituents keep their individual properties.

A. I and 1l only
B. I and I1I only
C. 11 and 11T only
D. I, Il and 111

The equivalent of 161 K in degree celcius is

A. 161 °C
B 112°C
.. -112°C
D. -161 °C

Which of the following processes uses solar energy”

. Drying materials,

1 Generation of electricity,
1. Heating of food substances,
A. I and I only

B. I and 11 only
C. Il and 11T only
D. I, I and 111
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35

,\
furgadity an plante i< the result of

A water entenng the cells

n water leaving the colls

« the withdrawal of cvtoplasm from the cell wall
N Jiffecion of matenale into the cells

Whirch of the followmg pon-metals conducts electricity?

A amond

R Graphite

¢ Stheon .

D Vanadium '

The main function ofileum in mammals is

A\ Jigestion and assimilation
2 assimilation and absorption.
. digestion and absorption.

D ingestion and digestion.

L ving organisms which help to modify the physical and chemical composition of the soil are
! carthworms.

il lichens.

il bacternia.

A I and Il only
B I and 111 only
C. II and 11T only

D. I. Il and I

The 1UPAC name of the compound whose structural formula is illustrated below s
CH— C= C—CH,

CH, Cl

A 2 —chloro—3=—methy lbut =2 —ene
B 2 — methyl —2— chlorobut—2=—e¢ne.
( 2 —chiloro=—3 —methyl =— 2 —butanc.
) 2 — methyl==2=—chloro —2=—butyne.

O parue compounds are mostly

P soluble in water
5] not inflanmablc
( covalent

D VOTC

Wiuch of the follow g components of the electromag netic spectinm b the highest fragueney |
) {

A Ciamitnia rays

I3 bdra-1ed rahialions
C IAiirowave

¥ Ulray iodet radiation

In mamanals, e ofgan which deaimnates eacess anuno aond W oo e b e

A badney

i3 liver

C pancreas
1 spleen
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AMarntenance ration provides farm animals with nuteients reguired for -

A e production,

It vital body processes

. prowth and development
N development and matunity

W hich ot the tollow g compoundsois o hydrocarbon?

\ CH,

R 1,0,

. cionon
» CHLCOCH,

“ A charactenstie feature of metamarphic and sedimentary rocks is that they are

\ cnvstalline instracture.

R non-crystalline in structure.
C. glassy in appearance,

D metallic in appearance,

An example of naturally occurring weak acid is

A. ammonia,

B. citric acid.

C. hydrochloric acid.
D. nitric acid,

The number of electrons present in the outermost shell of an element with atomic number 20 is

A. 2

B. 6
C. 8
D. 10

The neutrons and protons in the nucleus of an atom are collectively called
A mass number,

B neutrons,
C nucleons.
1. atomic number,

I'nerpy output in a device is equal to work done

A by the load.
B. on the load.
C. by the eflon,
1. on the eflort,

I'he shape of the lens of the hann eye is varied by the action of the

A. ins.

13, pupil.

C. ciliary muscle.

. suspensory ligament

Which of the following organclles is the site for protein synthesis?
A. Golgi body

B. Mitochondrion
C. Nucleus .
D. Ribosome _

(%3 CamScanner


https://v3.camscanner.com/user/download

40.

48.

49.

Fehling's solution is used in the laboratory to test for the presence of

A
B.
C.
D.

Which of the following quantities have both magnitude and direction?

1.
11
11

SHeN-IPS

Group of organs which form part of the central nervous system are the

A.

oW

fats.
starch.
reducing sugars.

fatty acids.

Displacement
Speed
Momentum

I and Il only

| and 111 only
I and 111 only
I. 1T and 111

3

brain. the eyes and the ears.

brain and the spinal cord.

brain, the ears and the spinal cord.

eyes and the spinal cord.

Proteins are usually made up of
sulphur, carbon and nitrogen.
carbon, hydrogen and nitrogen.
carbon, hydrogen and oxygen.
oxygen, carbon and sulphur.

>

OO0w

Which of the following characteristics are correct about dairy cattle? They have

L.
I1.
I

large udder,
long legs,
wedged body.

[ and Il only

I and 111 only
Il and 111 only
I, I and 111

END OF PAPER
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